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x2—y? +8y—-16 = x% - (2 - 8y + 16)
=x*-(y-4)?
=(x+y-4)(x-y+4)

A+B=(x+y-4)+ (x—y+4) = x?A

= x=0F=x=2,

XA x#00|ER, x =2 O[T},




2 = 2xy 37 + 20 - 2y - 3& AFRGHA?

O (x-y=-3)(x-y+1) @ (x+2y+3)(x-y-1)
@ x-y+3)x-y-1) @ (x-2-3)(x-y-1)
® (x=y+3)(x—2y+1)

B

Zol4 412 xo] Be) Felak
x4+ (2-2)x+y*-2y-3
=+ (2-2)x+(+1)-3)
=x-0+DHx-0-3))
=(x-y-Dx-y+3)




O Bl gkl o1 7t 7 2 217 E Aedi= Azt

H7]

@ 3x-2x-8=(x+A)(Bx+4)

© 4x>+Cx-3=(2x-1)(2x-D)

it

i

0X
i
&

0z
o
>

VVVVVYVYVYY
it
A

0x
L
>

B

@3x—-2x—-8=(x—2)(3x+4)

LA=-2,B=3
© 4x> + Cx -3 = (2x-1)(2x + 3)
. C=4,D=-3

A=-2,B=3,D=-3, C=40°|B2 /I Z AL 2|t}
2 29 C, B, A, D °|th.




19.

7420] Zolhxy+ 19 AXZIE] Wol7k a2 4 42 4 24y x—y-2
A o, o] ZAAAF ] Eo] dol=ax+bx+cOlth a+b+c Y
= oA L.

» =

> H e a+b4+c=6

B \

Py 42y -x-y-2=(x+y)2 - (x+y) -2
x+y=X= 549

X2-X-2=(X+1)(X-2)

oA A2o] Aol x+y-20]|B2

Edo dolE2(x+y+ 1+ x+y-2) =4x+4y-2 °Jth.
2 a+ b+ c =6 °|h




= 4
20. 24 V3O A TEE A% RSy AT, (1- VD) 4

of g FotofaL,
>

> Het: 6

B

3<2+ V3 <40]8
2+ V3 o JLRE
x:3,y:\/§—1

(- i)

=2
2 3, A4HEE2 V3-10o[th

L4
V3-1

i 1(B)
ST




21.

1
3V3

1
x= %IEH,xQer—QPJ%k

5_
130 + 755
130 + 75 V5 @

2
130 + 75 V5 ®
3 2

@
@

130 + 753

2
120 + 75 V3

B

5+3V3

_5+343

(5-3V3)(5+33)
%:5—3\5,

,  52+430V3 1
YT

x2

=2

,;:52—30\/5

1 260-90V3 130-45V3

x2 4

2

130 — 45 V3




22.

S 1o A gABEF ¢} oFHGD 7} ZA
79 uf, AH2HY HECG 9] Wolg a, b 9
ek Ao vehd & IFE5H0HH (a -
(ta + sb) oItk 1+ 5 2] & F5HAI L.

> HE I t+s5=1

/

1
b
|

\
\

B

Q==

AtZYY ABFE, EGHD & AAHZtgo|E2
HE=b-(a-b)=2b-a,EC=a-b
g2 A 9] Wole (26 - a)(a - b) ©ltt.

watA r= -1, s=20|2& r+ 5 =1 oJt}.




23. ab-6a+5b—48 = 02 WESt= A a, b O] =AM Me=? (P
a>0,b>0)

@ 170 @ 271 @37H @ 47N ® 570

B ~

ab—6a+5b—-48 =0
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b(a+5)-6(a+5)-18=0
(a+5)(b-6) =18
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(ii)a+5=9,b-6=2
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abc+ab+bc+ca+a+b+c=69
ab(c+1)+b(c+1)+a(c+1)+c=169
ab(c+1) +b(c+1)+alc+1)+c+1=70
(c+1)(ab+a+b+1)="70
(a+1)(b+1)(c+1)="70
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b+1=5 b=4
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. abc =24




